## Shri P. K. Chaudhari Mahila Arts College,

Sector-7, Gandhinagar Data of Sports Activities and Achievements 2015 - 2016

#### List of Programmers Hosted by the College

sSr. No.	Year	Date	Name of Game
1	2015-2016	25-02-2016	Gujarat University South Zone Inter College Soft ball Competition
		27-02-2016	Gujarat University South Zone Inter College Cricket
			Competition

#### List of Students Participated at All India West Zone (Inter University)

Sr. No.	Years\	Name of the students	Name of the Game	Place of All India West Zone (Inter Uni.)	
20	2015-2016	Charel Sita V.	Cross Country	Banglor	
		Shahu Ramila	Cricket	Mumbai Uni. Mumbai	
		Sangada Hetal H			
		Chaudhary Manjula J.	haudhary Manjula J. Judo		
		Chaudhary Vimala So		Jalandhar Panjab	
		Charel Sita V.	Open Mahila	Jammu- Kasmirs	
			Athletics		

## Achievements in Sports

# Achievement at International Level in 2014: Ms. Kinjari C. Brambhatt and Ms. Yashavi A. Bhagora has awarded Silver Medals in JEET KUNE DO EVENTS in "WORLD MARTIAL ARTS GAME" at Hua Mak Stadium, Bangkok, 12 to 22 March-2015

## (2) Guj.Uni.South Zone Inter College Athletics Achievesment in 2015 In 2015, the college participated in the south Zone Inter College Athletics competition an d Won 11 Gold Medals, 01 Silver Medal and 01 Bronz Medal

#### (3) Mahila Open District Athletics Tournament in 2015

In 2015, the college Participated in the Mahila Open Athletics Tournament.Won **04 Gold Medals,03 Silver Medals and 01 Bronz Medals** at District Level Organised by Youth,Social Service and Cultured Activities Dipartment of Govt.of Gujarats

#### (4) Open State Level Taekwondo Championship in 2015

In 2015, the college Participeted in the 25<sup>th</sup> State Taekwondo championship.Won

the 01 Gold Medal, 01 Silver Medal and 04 Bronz Medalss

#### (5) Gujasrat University South Zone Inter College Judo in 2015

In 2015, the College Participeted in the Gujarat University South Zone Inter College Judo Competition and Won the **01 Gold Medal**, **01 Silver Medal** and **03 Bronze Medal** 

#### (6) Gujarat University South Zone Inter College Wrestling In -2015

In 2015, the College Participeted in the Gujarat University South Zone Inter College Wrestling Competition and Won the **04 Silver Medals** and **02 Bronz Medals** 

#### (7) Cash Prizes Of Rs.6000/-

- Kabaddi Girls Open Tournament-2015

-Runners Up at Inter College

-Gujarat Divya Jivan Sang Open Girls Tournament,Ahamedabad. All Team Cash Prise Rs.6000/-

## Indor Games

## 2015-2016

1	Taekwondo	Participeted in the 25 <sup>th</sup> State Taekwondo Championship at S.A.G.Complex					
		Khokhara Maninagar, Ahmedabad on 27-09-2015. Chaudhary Arju Gold					
		Medal, Chaudhary Nipa Silver Medal and Chaudhary Ripal, Purani					
		Trusha,Purani Ridhdhi,Upadhyay Mahima won Bronz Medal.					
2	Judo	Gujarat University South Zone Inter College <b>Runners up</b> .at C.B.Patel Arts					
		College, Nadiad on 26-10-2015. Shahu Ramila B. 57kg Weight Group Gold					
		Medal, Chaudhary Manjula J. 57kg Weight Group Silver Medal,					
		Chaudhary Nipa 71kg Weight Group Bronz Medal, Chaudhary Varsha					
		52kg Weight Group Bronz Medal, Verma Madhu and Chaudhary Arju 63kg					
		Weight Group Bronz Medals.					
3	Judo(Inter	Gujarat University Inter Zonel Judo Competition at Gujarat University					
	Zonel)	Jimnesiam,Hall,Ahmedabad on 30-10-2015.Shahu Ramila B. 57kg Weight Group <b>Gold Medal</b> and Chaudhary Manjula J. 57kg Weight Group <b>Silver</b>					
		Medal.Chaudhary Manjula J. represented Gujarat University For Inter					
		University tournament at Orissa					
4	Chess	Participeted in Gujarat University South Zone Inter College Competition at					
		Bhavance Arts, Commerce and Science College Dakor on 11,12-09-2015					
5	Wrestling	Gujarat University South Zone Inter College Runners Up at T.J.Patel					
		Commerce College, Nadiad On 15-12-2015. Shahu Ramila B. 51kg Weight					
		Group Silver Medal, Chaudhary Manjula J. 59kg Weight Group Silver					
		Medal, Chaudhary Hansa M. 60kg Weight Group Silver Medal, Chaudhart					
		Anita D. 48kg Weight Group Silver Medal, Chaudhary Nathi M. 62kg					
		Weight Group Bronz Medal and Chaudhary Mamata N. 56kg Weight					
		Group Bronz Medal.					

## **Achievement at International Level**

Sr.	Year	Date	Name of Player	Name of the Game	Place	Rank
No.						
1	2014-	12 to 22	Brambhatt Kinjari C.	Jeet	Hua Mak	Silver
	2015	March		Kune Do	Stadium,	Medal
					Bankok,	
					Thiland	
		12 to 22	Bhagora Yashvi A.	Jeet	Hua Mak	Silver
		March		Kune Do	Stadium,	Medal
					Bankok,	1.10 au
					Thiland	

## **Out Door Games**

## 2015-2016

1	Care and Care from	Contract Hadron its Const. Zone Later College Chemistry of Astrony				
I	Cross Coutry	Gujarat University South Zone Inter College <b>Champion</b> at Arts and Commerce College, Kapadwani at 22-8-2015 Charel Sita V				
		Commerce College, Kapadwanj at 22-8-2015 Charel Sita V.				
		First, Bavaliya Kajal Second and Mithpara Sarada Six Number Place.				
2	Kho-kho	Participeted in Gujarat university South Zone Inter College				
		Competition at Arts and Commerce College,Kalol(Panchamahal)				
3	Athletics(Open)	Competion of Women Open District Level Organised By Sports				
		Authority of Gujarat at S.A.I.(Spors Authority Of India), Sector-				
		15,Gandhinagar on 12-09-2015 Chaudhary Asha F 100mt, 400mt				
		Run Gold Medals (2) Charel Sita V 800mt, 1500mt Run Gold				
		Medals (3) Kheeir Priyanka H 200mt Run Gold Medal (4) Shahu				
		Ramila B Long Jump Gold Medal (5) Mithapara Sharada M				
		200mt Run Silver Medal (6) Chaudhary Pushpa B 3000mt Run				
		Silver Medal (7) Chaudhary Manjula J Jevelin Throw Silver				
		Medal. Charel Sita V800mt Run Gold Medal Gujarat State Level				
		Orgenised by District Sports Office, Himatnagar. Charel Sita V.				
		represented Women Open National Competition From Jammu-				
		Kashmir on 08-12-2015.				
4	Cross	Gujarat University Inter Zonel Cross Country at Arts and Commerce				
	Country(Inter	College, Devagadhabariya on 25-08-2015. Charel Sita V. and				
	Zonel)	Bavaliya Kajal A. Participeted in Tournamen. Charel Sita V. First				
		Nomber and represented Gujarat University For All India Inter				
		University at Banglor				
5	Athletics	Participeted In Gujarat University South Zone Inter College				
		Competition at I.V.Patel Commerce College, Nadiad on 11,12-01-				
		2016 (1) Charel Sita V 800mt,1500mt, 3000mt, and 4x100 Relley				
		Run Gold Medals (2) Sangada Hetal H Discus Throw, Shot Put				

		Throw <b>Gold Medals (3)</b> Shahu Ramila B Long Jump and 4x100			
		Relley Run Gold Medals (4) Bavaliya Kajal A 5000mt and 4x100			
		Relley Run Gold Medals and 3000mt Run Silver Meda (5)			
		Chaudhary Pushpa B 4x100 Relley Run Gold Medal (6) Mithapara			
		Sharada – 400mt Run <b>Bronz Medal</b> .			
6	Kabaddi(Open)	Gujarat Divya Jivan Sang Open Inter College Girls Runners Up on			
		Divya Jivan Sang Ashram, Jothpur Tekara, Ahmedabad on 30-01-			
		2016.All Team 08 Players Cash Prizes in Rs6000/-			
7	Soft ball	Gujarat University South Zone Inter College Champion at Shri			
		P.K.Chaudhary Mahila Arts College, Sector-7, Gandhinagar on			
		27/02/2015			
8	Volley ball	Participeted In Gujarat University South Zone Inter College			
		Competition at Science College, Manasa on 26/02/2015			
9	Cricket	Gujarat University South Zone Inter College <b>Runners Up</b> at Shri			
		P.k. Chaudhari Mahila College,Sector-7 Gandhinagar on 24/02/2015			

### Shri P. K. Chaudhari Mahila Arts College, Sector-7, Gandhinagar

## KHEL MAHA KUMBH

Data of Sports Activities and Cash Prizes

#### KHEL MAHA KUMBH CASH PRIZES

## **Year - 2015 - 2016**

S.R NO	NAME OF THE GAME	RANK	PARTICIPATIO N OF STUDENT	AMOU NT	TOTAL AMOUNT
1	Kabaddi	Zone First	12	500	6000
2	Tough Of War	Zone First	09	500	4500
3	Athletics	Zone First	08	500	4000
4	Yoga	Zone First	01	500	500
5	Chess	Zone First	01	500	500
6	Kabaddi	District First	12	3000	36000
7	Volley Ball	District First	12	3000	36000
8	Tough Of War	District First	09	3000	27000
9	Yoga	District	01	2000	2000
		Second			
10	Hockey	District	07	2000	14000
		Second			
11	Wrestling	District First	01	3000	3000
12	Athletics	District First	03	5000	15000
13	Athletics	District	02	3000	6000
		Second			
14	Athletics	District Third	04	2000	8000

15	Taekwondo	District Third	01	2000	2000
16	Merethon Run	State Second	01	150000	150000
17	Taekwondo	State Third	01	5000	5000
				Total	321500

## **Achievements in Sports Photos**

**Gujarat Unniversity South Zone Inter College Soft Ball Champion-2015-16** 



GUJARAT UNIVERSITY SOUTH ZONE INTER COLLEGE CROSS COUNTRY CHAMPION - 2015-16



(1) BAVALIYA KAJAL A.
(2) CHUDHARY PUSHAPA B.
(3) CHAUDHRY MANJULA J.
(4) CHAUDHARY SEETA B.
(5) MITHAPARA SHARADA M.
(6) CHAREL SITA V.

#### Gujarat Unniversity South Zone Inter College Cricket Runners Up -2015-16





- (1) Charel Sita V. 800mt, 1500mt, 3000mt and 4 X 100Relley Run Gold Medels
- (2) Sangada Hetal H. Dis Cus Throw & Shotput Gold Medels
- (3) Shahu Ramila B. Long Jump & 4 X 100Relley Run Gold Medels
- (4) Bavaliya Kajal A. 5000mt, 4 X 100Relley Run Gold Medels & 3000mt. Silver Medel
- (5) Chaudhary Pushpa B. 4 X 100Relley Run Gold Medels
- (6) Mithapara Sarada 400mt. Run Bronz Medel